National spring contests in informatics
Plovdiv,  12.06. 2010 g.
Group Е (4-5 grade)

E1. Pokemon

Qna had accumulated pictures  “pokemon“  that are being counted with entire numbers in 1 in 100 000. The pictures are situated to a card.  Qna had wanted to trade the recuring pictures, therefore she had must find the first picture in the range, views them from left key that recurs. Write a program pokemon that will be located The number of that picture Which first two points of the range does meet. The enumeration in the card begins from 1.

Input

On the first line of the standart input there n – the number to the numbers in the pictures.
On the second  line of the standart input there n natural numbers, defend the numbers to the  pictures that Qna had, separated by space.

Output:

On the first line of the standart output your program has to output  one natural number- the recuring picture number (if he will lead the recuring картинки yea away  No).

On the second  line of the standart output your program has to output two natural numbers, separated by space - the stands of the one who recur pictures.
If in the card  the recuring pictures, will output the programme in the only line of the standard exit No.
Limits:

2<=n<=100
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Solutions:

The solution of the task can be realized by two nested cycles and a flag to mark the first instance of recurring numbers. The  algorithm describing  the solution is the following: 
1)  One cycle crawl all elements of the array. 
2)  For each array element is assigned a value of 0 and flag incorporated into a new cycle this symbol is compared with all other elements of the array located behind it. 
3)  If equality is found, the flag is set to 1, and the element positions (plus 1), which was found, are derived and  the  incorporated cycle is interrupted. 
4)  The execution continues with the body of the first cycle, where the flag value is checking again. If it is  1, this cycle  interrups. Otherwise, proceed to the next iteration. 
5)  Upon completion of the cycle is checked the value of the flag. If it is 0, then in the array there are not  recurring items are not found.
#include<iostream>

using namespace std;

int main()

{

    int n,  j, i,flag;
    long int a[101],
    cin>>n;  

    for(i=0;i<n;i++)

     cin>>a[i];

    i=0;


while(i<n)

{


flag=0;


j=i+1;


while(j<n)


{



if(a[i]==a[j])



{




cout<<a[j]<<endl;




cout<<i+1<<" "<<j+1<<endl;




flag=1;




break;



}



j++;


}


if(flag)break;


i++;

}

if(flag==0)cout<<"No"<<endl;

return 0;}

